| D—-568 R
REVISIONS RELEASED |
CONSTRUCTION GASKET SEALED, VENTED REV DESCRIPTION DATE APPROVED
MAIN CONTACTS H |[22814 |ITEM 1 WAS 16043-001 93/02/18 | WS
Sgﬂ';ig%R?L%%NINAL) ?Tg}zgé[’\'ffg"fé-g "z J |23017 |REDRAWN, REMOVE KEYS 93/03/04 | Ws
CURRENT: RES. 135 AMP K [35412 | FIND NO 16 39529-032 REMOVED 98,/04/23 RS
IND. 135 AMP L 42614 | FIND NO. 10 WAS 51701-310 00/08/02 | cC
\(/)E\ITTI é—ﬁiﬁTION ’{'STTEORF; ?gngi’MP M |10-013121| UPDATED THE COIL TRANSIENT NOTE 10/06/01 | cB
OPERATE TIME N |12-003360| REMOVED OVERLAYS ITEMS 14 & 15 11/10/12 | cB
<\— 3.94 MAX \—» CLOSING 50 MILLISECONDS MAX AT 25 VDC : A2
OPENING 35 MILLISECONDS MAX MO—a =_Om
3.125 TRANSFER 10 MILLISECONDS MAX AT 30 VDL } |
ot o] AUXILIARY CONTACTS — ————Oe
CONF IGURATION 4 PDT B1OQ—a| i B3
W S VOLTAGE 28 VDC 115 VAC 400 HZ | |
7 €0, cd & AN e CURRENT: RES. 5 AMP | ——+—Oc
5% > IND. 3 AMP . '
N/ X N\ AP 5 AP c1()—AI | c3
_‘q @ COIL DATA | re I
= e e DUTY CYCLE CONTINUOUS B O_OJ/"_O OJI/O—OH
o @ OPERATING VOLTAGE RANGE 18 VDC TO 30 VDC } ¢y |
11 s S NOMINAL COIL VOLTAGE 28 VDC | ok O—v |
A PICKUP MAX. 18 VDC £ Ot 9 S—atoOL
. = DROPOUT VOLTAGE 7 VOLTS TO 1 VOLT | ~—OFuw }
2 " CURRENT: AT 30VDC .33 AMP MAX AT 25°C (I
=% _ T o /\ MECHANICAL
2 ¢ 2 %R@ @ @ ENVIRONMENTAL DATA -55°C T0 +71°C +P INTERLOCK
o : = AMBIENT TEMPERATURE PER MIL-E-5400 (50 to 500 HZ) gesERVE :
t &J VIBRATION FIGURE 2 CURVE 1V N L O
2~——@ e B =
< ACCELERATION 66S
SHOCK 18 G'S MAX FOR 11 MILLISECONDS
] = ALTITUDE 50, 000 FEET MAX
LIFE ELECTRICAL 50, 000 CYCLES MIN. NOTES:
AL
& = D LIFE MECHANICAL 100, 000 CYCLES MIN. 1. THE COIL SHALL BE PROVIDED WITH TRANSIENT
Y] f WEIGHT, MAX. 3 LBS. SUPPRESSION, LIMIT THE VOLTAGE SPIKE TO 47 VOLTS
\NZ L A
625 MIN. .56 REF. DIA.
2164240 bia TYP. MTG. HOLE
1 TE= 005 B0 CLEARANCE 15
4 MTG. HOLES )
13| 9 |51807-034 |WASHER-LOCK NO. 1/4 SPLIT MS35338-101/BRONZE
12| 4 |51805-011 |WASHER— LOCK NO. 5 SPLIT BRONZE
/4 - 28 UNF-2A 11] 9 [51703-064 [WASHER- FLAT 1/2 X 17/64 X . 031 AN9608416L |BRASS
9 STUDS 10] 4 [51701-180 [WASHER- FLAT 3/16 X . 103 X . 015 MYLAR
e 9 4 [51205-771 |SCREW, 5-40 X 1 1/4 RD. HD. BRASS
* 8 9 [50407-364 [NUT 1/4-28 X 7/16 X 3/16 HEX MS35650-3255S [BRASS
r-- 1 7 1 |34498-001 |PLATE-BASE COVER
3 : : /@ 6 1 |34497-001 |PLATE- SCHEMATIC DIAGRAM
)l L__ 5 1 134495-020 |CONTACTOR ASSEMBLY- PRI.
4 1 |30844-001 |TERMINAL- SHIELD
_l ] 3 1 |REF CONNECTOR MS 3470W-14-19P
2 1 117959-001 |PLATE-WARNING
X 1 1 116043-052 |PLATE-NAME
z ; FIND | QTY PART OR NOMENCLATURE OR DRAWING OR MATERIAL
<>' '12 © § NO |REQD |IDENTIFYING NO DESCRIPTION SPECIFICATION OR NOTE
T - z UNLESS OTHERWISE SPECIFIED REF: -T
m. DIMENSIONS ARE IN INCHES SIKORSKY AIRCRAFT =— E
o TOLERANCES O 70550-02027-104 =
2 PL DEC. |3 PL DEC. ANGLES DY Hart man™ivieton .175 N. DIAMOND STREET  NANSFIELD, OHIO 44902
£ .0 |t o0 | £1° D|-F|2K E;; C(\SCC 88;82; g CONTACTOR ELECTRICAL
1 1 Cl
/ | | ENGR [MRR|00/08/16 135 AMP, SIDE STABLE-3PDT
— = MF G [MES [00/08/17 115/200 VAC, 400 HZ 093
SIZE |CODE IDENT DWE o D-56B
Downloaded From Oneyac.com SCALE NONE [ SHEET REF TE P/N 1616035-1



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

